oW Wie viel ist es insgesamt?
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Aufgabe 1

1.

2.

10.

300+30+6

700+ 70+ 9

800 + 80 + 2

300+90+9

100 + 40 + 7

100+20+5

200 + 40 + 4

400+30+5

500 + 40 + 2

600 +90 + 2

Aufgabe 3

1.

2.

10.

200 + 60 + 2

300+10+8

300+ 40+ 2

200 +30+3

200+10 + 4

500 + 90 + 4

400+20+9

400+30+6

200+30+7

400+20+5
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Aufgabe 2
o 1. 100+20+7
o 2. 800+30+9
= 3. 700+50+1
= 4. 100+10+2
e 5 900+50+7
o 6. 700+30+2
o 7. 500+90+2
= 8. 300+20+5
e S 9. 800+90+1
o 10. 200+90+5
Aufgabe 4
o 1. 500+20+6
= 2. 500+20+4
= 3. 300+10+1
e S 4. 700+50+5
o 5 800+90+3
R 6. 100+20+8
= 7. 600+30+4
e S 8. 200+10+5
o 9. 600+30+3
o 10. 300+30+6
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Aufgabe 1 Aufgabe 2

1. 300+30+6 = 336 1. 100+20+7 = 127
2. 700+70+9 = 779 2. 800+30+9 = 839
3. 800+80+2 = 882 3. 700+50+1 = 751
4. 300+90+9 = 399 4. 100+10+2 = 112
5 100+ 40+7 = 147 5 900+50+7 = 957
6. 100+20+5 = 125 6. F00+30+2 = 732
7. 200+ 40+ 4 = 244 7. 500+90+2 = 592
8. 400+30+5 = 435 8. 300+20+5 = 325
9. 500+ 40+2 = 542 9. 800+ 90+ 1 = 891
10. 600+ 90+ 2 = 692 10. 200+90+5 = 295
Aufgabe 3 Aufgabe 4

1. 200+ 60+2 = 262 1. 500+20+6 = 526
2. 300+10+8 = 318 2. 500+20+4 = 524
3. 300+40+2 = 342 3. 300+10+1 = 311
4. 200+30+3 = 233 4. 700+50+5 = 755
5 200+10+ 4 = 214 5. 800+90+3 = 893
6. 500+ 90+ 4 = 594 6. 100+20+8 = 128
7. 400+20+9 = 429 7. 600+30+4 = 634
8. 400+30+6 = 436 8. 200+10+5 = 215
9. 200+30+7 = 237 9. 600+30+3 = 633
10. 400+20+5 = 425 10. 300+30+6 = 336
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